sV Sb Eibei¥ Hif

318 73 B DY RIE S (AT 45 5%)

4

G-1+6-

H #A:

1 1
+ _
3 5

(OSTIN NS
W o

N =

113
4+ )x =
G123

8 . J—
(4+3)+8=

www.snowmath.com

ﬁ]\

.



https://www.snowmath.com

%% v Qg@ b oy 3080 5B 1 Y O A )

44 H #H: Gax £&
112 1 3 9 51
G 8%357 1 Gtp3=5713
33 39 1 1 11 8
G d=2=00 (G+oxz=—
24 4 4 4 3 5 3 45

6 1 12 2

_—1 - = — —_(— ——) =

(5 )+ 6 30 2(3 3) 0
311 1 1.3 9
([ — — ) = —_ 4+ — _ =
537370 G237 %6
31 1 5 1 8 5
37271713 d+3)=8=¢

www.snowmath.com


https://www.snowmath.com

